Factory
Filename: factory
The Problem

Maria owns a factory where n tasks need to be done and there are exactly n employees in the factory. Each task is assigned to one employee. Maria is not sure about how to assign the tasks to her employees to achieve optimal performance. Maria wants to know how many ways there are to assign tasks to her employees.
The number of possible ways there are to assign n tasks to n employees is given by the factorial of n.
The factorial of a positive integer n, n!, is the product of all positive integers less than or equal to n. This means,

n! = n * (n-1) * (n-2) * (n-3) * … * 1

Maria, unaware of how huge n! can be, wants to check all possible assignments one by one, so she can find the most optimal assignment. Help Maria find the number of all possible assignment, so she can “simplify” her work.
The Input
The first line of input contains a single positive integer, numcases, denoting the number of input cases. The next numcases lines each contain a single integer n (1 ≤ n ≤ 12) corresponding to the number of tasks. Assume the number of tasks is equal to the number of employees.
The Output
For each input case, output a single line with the following format:
Case #k: The number of possible assignments is X.
where k is the input case (1≤ k ≤ n), and X is the factorial of n.
Sample Input

2

3
5
Sample Output 
Case #1: The number of possible assignments is 6.
Case #2: The number of possible assignments is 120.
